BEELEE RHV-M-ED

RHV-M-ED s B & & [0
EOQ 24° # / AHISMEL- EDEH (ISO 9974)

s2 S1 R
—\\ —\ =
\
8 flr.rﬂ i
g = NI/ e _?&ﬁ 8 - £3' '
¢ g
v \E‘ e
L2 ts_| XV X1) : ED#E A
L1
@ CF |71 CF| 71 CF| 71 PN (bar)
&5 = £
D1 T DN |[DN|D3|L1|L1|L2|L3| L4 |S1]|S2|S2|S3 |9 iTEs* CF | 71 ﬁ
06 [M10x1.0 35 | 35 | 14 |350| — |280| 8 |425| 17 | 17 | 17 | 14 | 46 |RHVOBLMEDOMD | 400 | 250 &
08 |[M12x15| 55 | 55| 17 |360| — |29.0| 12 | 435 | 19 | 19 | 19 | 17 | 58 |RHVOSLMEDOMD | 400 | 250 =«
10 |M14x15| 75 | 75| 19 |455| — [385| 12 [53.0| 22 | 24 | 34 | 19 | 108 |RHVIOLMEDOMD| 400 | 250 B
12 [M16x15| 95 | 95 | 22 [495| - [425| 12 |570| 27 | 30 | 30 | 22 | 173 |RHV12LMEDOMD| 400 | 250 HTII
. 15 |[M18x1.5[11,0 [115| 24 |525| — [455| 12 | 605 | 27 | 32 | 32 | 27 | 192 |RHV15LMEDOMD| 400 | 250 1
18 |[M22x1.5(14.0 [14.0| 27 |56.0| - [50.0| 14 |66.0 | 36 | 41 | 36 | 32 | 298 |RHV18LMEDOMD | 400 | 160
22 |M26x1.5(18.0|18.0| 32 |64.0| — |550| 16 | 71.0 | 41 | 46 | 46 | 36 | 446 |RHV22LMEDOMD | 250 | 160 =]
28 |M33x2.0[23.0|23.0| 40 |72.0| - |63.0| 18 | 795| 50 | 55 | 55 | 41 | 722 |RHV28LMEDOMD | 250 | 100
35 |M42x2.0[29.0|29.0| 50 |81.0| — |69.0| 20 | 905 | 60 | 65 | 60 | 50 | 1053 |RHV35LMEDOMD | 250 | 100
42 |M48x2.0[29.0 [29.0| 55 |82.0| — [68.5| 22 |91.0| 65 | 70 | 70 | 60 | 1563 |RHV42LMEDOMD | 250 | 100
06 |[M12x15|35 |35 | 17 |385| — [315] 12 |46.0| 19 | 19 | 19 | 17 | 70 |RHVO6SMEDOMD | 420 | 400
08 |M14x15|35 |35 | 19 |385| — |315] 12 |46.0| 19 | 19 | 19 | 19 | 76 |RHVOS8SMEDOMD | 420 | 400
10 [M16Xx15| 55 | 55 | 22 [455| — [38.0| 12 | 54.0 | 22 | 24 | 24 | 22 | 124 |RHV10SMEDOMD | 420 | 400
12 (M18x15| 75 | 75 | 24 [485| — |41.0| 12 | 570 | 24 | 27 | 27 | 24 | 157 |RHV12SMEDOMD | 420 | 400
S 14 [M20x15| 95 | 95 | 26 [525| — |445| 14 | 620 | 27 | 32 | 32 | 27 | 215 |RHV14SMEDOMD | 420 | 315
16 [M22x1.5|11.0 [11.5| 27 [55.0| — |48.0| 14 | 66.0 | 32 | 36 | 36 | 30 | 296 |RHV16SMEDOMD | 420 | 315 ,
20 [M27x2.0[15.0 |15.0| 32 |61.0| — [52.0| 16 |735 | 41 | 50 | 46 | 36 | 521 |RHV20SMEDOMD| 420 | 250 2
25 |M33%2.0[19.0 |[19.0 | 40 |67.0| — |545| 18 | 785 | 46 | 55 | 50 | 46 | 648 |[RHV25SMEDOMD| 420 | 250 -
30 [M42x2.0[24.0 [24.0| 50 |780| - |64.0| 20 | 90.5| 60 | 60 | 60 | 50 | 1178 |RHV30SMEDOMD| 250 | 250 ﬁ
38 [M48x2.0(29.0|29.0| 55 |88.0| — |69.5| 22 {100.0| 65 | 70 | 70 | 60 | 1627 |RHV38SMEDOMD| 250 | 250 <
ME-oNGE C

4N, FTiegeEsE: RHV12LMEDOMDCF
316Ti 745%8: RHV12LMEDOMD71
E: ITHRERSEFFE

HARTRESE, EULR~RRT .

m B-173 475 3400-CN




